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s=j  (3.5) 
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 D-  ( . 3.14 ).

2.  D- ,
,

 D- .
 D- , . .
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, , . .
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 4.1 
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-
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g0 f0
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0 1/ C0 ; 1/ 1– 1/ 2  C20/2C10;
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. 6.2 , x1 i,
.

. x2 y,
y x2.

S x1 – x1 = x1 (S – 1) = 0, 
S x2 + x2 = x2 (S + 1) = – u,
S x3 + 2x3 = x3 (S + 2) = u,
S x4 + 3x4 = x4 (S + 3) = – 2u,
y = x1 + x3 +0.5 x4.



73

. 6.2 

.
 S  S ,

:

Cxy
BuAxx

S :     
zBw

uCzAz
S

T

TT

:*

S t0, S t0 . ,

.

1
2

1
S

1
x3

yu

–1
1

1
S

x2

3
1

S 0,5

x4

–2

1
1

S
1

x1



  6
.3

 

 [x
0,

t 0]
,

t 1
(t 1

>t
0)

u(
t),  [t

0,
t 1]

 [x
0,

t 0]
[x

1,
t 1]

. 
x

X
t 0,

t 0

,

y(
t)

u(
t)

t 0
t

t 1
x(

t 0)
.

,

Q
= 

[B
,A

B,
A2 B,

 …
, A

n-
1 B]

n,
 (n

 –
 

)
R

= 
[C

T ,A
T C

T , (
AT )2 C

T , …
, (

AT )n-
1 C

T ]
n

,

ra
ng

Q
= 

ra
ng

 [B
,A

B,
 …

, A
-1

B]
 =

 n

,

ra
ng

R
=

ra
ng

 [C
T ,A

T C
T , …

, (
AT )

-1
C

T ] =
 n



75

1. . ., . . .
3- . – .: , 1975.

2. . . . . – .: ,
1976.

3. . ., . . . – 2- .,
. . – .: , 1982. 

4. . .
. – .: , 1978. 



76

 1  ………………………………….………… 3
1.1  .…………………………………. 3
1.2  ………………………………………………. 5
1.3  ……….. 6
1.4  ……………………………………… 7
1.5  ………………………………… 9

 2  11
2.1 .  …………………… 11
2.2  …………………………………. 14
2.3 .

 …………………………………………………15
2.4  ………………… 18
2.5  …………... 19
2.6  …………………20
2.7  ……… 25

 3  30
3.1  ………………………………………………. 30
3.2

 …………………………………………………………….. 31
3.3  ……………………………………………... 33
3.4  ……………………………………… 38
3.5  ……………………………………….. 39
3.6  ……………………………………. 40
3.7  …………………….. 43

 4   45
4.1  ………………………………………… 46
4.2  ……………………………………… 48
4.3  …….. 51
4.4  ……. 55

 5 
 …………………………………………. 61

5.1  …………… 61
5.2  ………………………………….. 66
5.3  ……….…………………………67

 6  ………………………………….….. 70

 …………………………………………………... 75


